XYZ,=109.84 ,99.99, 35.58
56, -2,) Y

58, (b, by,) Y
a=ay[ (x-x,) /%

by =by 2/}
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Parameter:

Y & Name
llluminant AGO
Y,,=100 Y\=4

of maximum (m) C,
chromatic value diagram @,,
lllumin. AOO, Y —10ﬂ Y=4
Name Range X

R, 579_775 8111 iéas 10 boaad 0amia o 400
V) 504775 104.68514 369 05118 0.47 581 474
G, 504579 26.08 54.89 366 03241 0.6335 547 547c
C, 380579 33.24 58.75 35.54 0.2606 0.4606 499 605
B, 380504 9.66 7.05 3334 0.1896 0.1561474 A1
M, 579504 86.27 49.2 33.38 05108 0.2914 547c547
W,,380_775 100.690.99 35,58 0.4475 0.4074 100%

N, 380_775430 390 142 0.4475 04074 4%

Z, 380_77519.77 17.99 64 04475 0.4074 18%
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